HPE_CIEF02_X-Zapfen-Empfindlichkeit y,44(A)=

Meo2_x,10)=B21XFo2_x,1M)+B22Yroz_x,10)

+BogZroz_x,1(A)

2,0 By -0,4170 1,1772 0,0786 A{545)
D65: TMEgy x 1(A)=18,99

XFo2_x,1=0,3133 Yoy x1=0,3305
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HPE_CIEF02_X-Zapfen-Empfindlichkeit y,44(A)=

Meo2_x,10)=B21XFo2_x,1M)+B22Yroz_x,10)

+BogZroz_x,1(A)
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D50: ZMiggy x1(A)=18,34
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HPE_CIEF02_X-Zapfen-Empfindlichkeit y,44(A)=
Meo2_x,10)=B21XFoz2_x,10)+B22YFo2_x 1N
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HPE_CIEF02_X-Zapfen-Empfindlichkeit y,44(A)=

Meo2_x,10)=B21XFo2_x,1M)+B22Yroz_x,10)

+BogZroz_x,1(A)

2,0 By -0,4170 1,1772 0,0786 A{545)
AQO: SrfTEgy x 1(A)=17,49
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HPE_CIEF02_X-Zapfen-Empfindlichkeit y,44(A)=

Meo2_x,10)=B21XFo2_x,1M)+B22Yroz_x,10)

+BogZroz_x,1(A)

2,0 By -0,4170 1,1772 0,0786 A{545)
E00: gy x 1(A)=18,97
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HPE_CIEF02_X-Zapfen-Empfindlichkeit y,44(A)=
Meo2_x,10)=B21XFoz2_x,10)+B22YFo2_x 1N
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HPE_CIEF02_X-Zapfen-Empfindlichkeit y,44(A)=
Meo2_x,10)=B21XFoz2_x,10)+B22YFo2_x 1N
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HPE_CIEF02_X-Zapfen-Empfindlichkeit y,44(A)=

Meo2_x,10)=B21XFo2_x,1M)+B22Yroz_x,10)

+BogZroz_x,1(A)

2,0 By -0,4170 1,1772 0,0786 A{545)
QO0: gy x 1(N\)=19,51
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